
Digital Image Processing
Image Fundamentals – Chapter 2
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Image Operations in Matlab

imread() – reading an image with different postfixes

imresize() – resizing an image to any given size

figure – opening a new graphical window

subplot(#of row, # of col, location) – showing different 
plots/images in one graphical window

imshow() – displaying an image



Image Operations in Matlab

generating figures of slide 9

im=rgb2gray(imread(‘pears.png'));

im1=imresize(im, [1024 1024]);

im2=imresize(im1, [1024 1024]/2);

im3=imresize(im1, [1024 1024]/4);

im4=imresize(im1, [1024 1024]/8);

im5=imresize(im1, [1024 1024]/16);

im6=imresize(im1, [1024 1024]/32);

figure;imshow(im1)

figure;imshow(im2)

figure;imshow(im3)

figure;imshow(im4)

figure;imshow(im5)

Figure;imshow(im6)



Image Operations in Matlab

generating figure of slide 10

figure;

subplot(2,3,1);imshow(im1);subplot(2,3,2);imshow(im2)

subplot(2,3,3);imshow(im3);subplot(2,3,4);imshow(im4)

subplot(2,3,5);imshow(im5);subplot(2,3,6);imshow(im6)



Image Operations in Matlab

generating figure of slide 11

• im = rgb2gray(imread('pears.png'));

• im1 = imresize(im, [1024 1024]);

• im2 = gray2ind(im1, 2^7);

• im3 = gray2ind(im2, 2^6);

• im4 = gray2ind(im3, 2^5);

• im5 = gray2ind(im4, 2^4);

• im6 = gray2ind(im5, 2^3);

• im7 = gray2ind(im6, 2^2);

• im8 = gray2ind(im7, 2^1);



Image Operations in Matlab

• Creating mirror image

• a=imread('pout.tif');

• [r,c]=size(a);

• for i=1:1:r 
• k=1;

• for j=c:-1:1 
• temp=a(i,k); 
• result(i,k)=a(i,j);
• result(i,j)=temp;
• k=k+1;

• end

• end

• subplot(1,2,1),imshow(a)

• subplot(1,2,2),imshow(result)



Output for Slide 29
• Mirror Image Generation



Assignment
• Submission date 10th may

• How to place labels in the subplot. Practice code given in slide 29 with 
label according o gray level, starting from 8bit image to 1bit

• Write a MATLAB code that reads a gray scale image and generates the 
flipped image of original image. Your output should be like the one 
given below


